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I (Herr—5) Rrem goiar gAoT—u= aster 2017
SUBJECT- ENGLISH

Time-2.00 hrs Max. Marks-100
Q1. Write the correct answer. (10x2=20)
HE IR GAPR fordl |
(A Is a wild animal.
() cow (i)  horse (ii) lion
(B) Ayushhas....................... umbrella.
(i) a (i) an (i) the
(C) Appuwenttothe ........................ to buy ink.
(i)  school (i)  station (i)  market
(D) Choose the rhyming word for ‘cat’ ............... :
(i) bat (i) chair (i) desk
(E) Youcango ..........coeevvennnnnen you like.
(i) anything (i) anywhere (iii) anybody
(F) Fishlivesinthe ...............coooi il
(i) grass (i) river (i) sky
(G) Busesrunonthe ............c.ccoovenennn. :
() road (i) water (i) rail
(H) Aryanisaboy.He ...................... Kho-kho.
() play (i) plays (i) playing
()  Aashi boughtadozenof .......................
@@  milk (i) bananas (i) sugar
() Thesmalllettersof B,D,P,Qare ......................

(i) togvyh (i) b,d,p,q (i) h,zj09



Give answers as per instructiofs=mgarR <R ar| (6X4=24)

Q2. When is Sita’s train coming?

ANS.  —mmmmemm e e e e e
Q3. What fell from the tree?

L
Q4. Give opposites (any two)

o aref forar| (@1 =)

@ Day .
(D) Big i,
(C) Out i
d Up
Q5. Correct the spellings (any two)
QAT GoRSR foral (@1 )
(@ rbbait ...
(b) itger ...
(c) orhse ....cooovviiiiiiiiiiii,
(d inlo .



Q6.

Q7.

Q8.

Read the passage and fill in the blanks (aoy t
eI BT UGHY Wlell WA BT W (HIE ]

Ramvati went to the zoo. She saw an elephant amwbr&key. The

monkey was eating bananas. The elephant was eaifjagcane.

@ went to the zoo.
(b)  The monkey was eating ...........c.ccoeeeiviinnnnns
(c) Theelephantwaseating ................cccveee ..

(d) Ramvatisaw amonkeyandan ...................... in the zoo.

Fill in the blanks (any one) wrell %= _1 (@1 U®)

(@) Rajuisaboy. .......coooiiiiiiiii is 10 years old.
(b) Sitais eating an apple. ............... IS very sweet.
Give answers as per instructioRSegaR IR aT | (5x6=30)

Read the given passage and answer the question

&I T TR BT UgHR YTl B SN aT |

Kunal went to a temple yesterday. There he sawpgp\pin front of
the temple. The puppy was playing with some chirldiéhe children
were throwing a ball and the puppy was bringinggitk.

(@) What did Kunal see at the temple?

AN 11



(b)  What was the puppy bringing back?
AN S
Q9. Use a/an to complete these sentences

el e # a/an ™y |

@ elephanthas ................. long trunk.

(b) ......... orange iS ............ fruit.

(c) Ilhave.......... penbutlneed.................. inkpot.
Q10. Use ‘before’ and ‘after’

et w9 § - before’ o ‘after'«®r|

(@) Februarycomes ................ccoeeenee. March.
(b) Maycomes ........cocoevviiiiiiiinnennnnn, April.
(C) Octobercome .............cocoeennen. September.
Q11. Complete this story using the correct word.
9 BEFI B el o [Tgd) qRT ] |
There .............. (is/was) a crow. He ............... (was/werarw
thirsty. He ........... (see/saw) a pot of water. There..........

(wasl/is) very little water in the pot. He brouglinge stones. He
....................... (drop/dropped) the stones in the pot.aHin he

could ................... (drink/drank) the water.



Q12.

Q13.

Fill in the blanks.

GTell R ®I WY |

(@) Atomatois ........ooeovvviiiiiiiinnns in colour.

(b) Theskyis . in colour.
(c) Aparrotis ......ccoceeiiiiiinnnnn. in colour.

Read the passage and answer the questions. (1x8=8)

TENY BT UgHhY U & SN forar |

A hen was standing near the coconut tree. A nlidfeivn from the
tree, ‘Dham!” She said, ‘Kut-Kut-Kut-Kutak Koo, theky is falling!

The sky is falling!” and she ran.

(@) Who was standing near the coconut tree?

AN S, oo e e e e

(b) What fell down from the tree?

AN 1

(c) Did the sky really fall?
AN S, e

(d) Who said, “The sky is falling”?

N 1



Q14.

Arrange sentence in proper order. (1x8=8)
el Bl e H for |

* | go to school at 10 0’ clock.

* | get up at 6 O’ clock.

* | return home at 4 0’ clock.

* | take bath at 7 O’ clock.

Write 5 lines on any one of the given topics (1x10=10)
(@) Myschool (b) Myfriend (c) Petanimal
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